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Time—35 minutes
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SECTION I

27 Questions

Directions: Each set of questions in this section is based on a single passage or a pair of passages. The questions are to be
answered on the basis of what is stated or implied in the passage or pair of passages. For some of the questions, more than one
of the choices could conceivably answer the question. However, you are to choose the best answer; that is, the response that
most accurately and completely answers the question, and blacken the corresponding space on your answer sheet.

®)

(10)

(15)

(20)

(25)

(30)

(35)

(40)

(45)

(50)

In the last half-century, firefighters in
North America have developed a powerful system for
fighting wildfires using modern technology. But at the
same time, foresters and ecologists are increasingly
aware that too much firefighting can be worse than
none at all. Over the millennia, many forest ecosystems
have evolved in such a way that they are dependent on
periodic fires for renewal and for limiting damage
when fires do occur. Ancient ponderosa forests, for
example, were stable in part because low-intensity
fires maintained open forests with low levels of fuel
for future fires. These fires burned lightly around the
bases of mature trees, leaving these trees alive and
clearing the understory of brush and young trees.
Scientists can easily count the regular recurrence of
fires in these forests over the centuries by examining
the scars left on trunks; the typical interval between
fires could be as short as 5 years and rarely extended
beyond 25 years.

If fires are kept out of forests, however, deadwood
and other fuels build up; then, when fire is sparked by
lightning or some other cause, what results is a fire so
large that it leaves total devastation. Such fires often
kill off wildlife that might escape low-intensity fires,
and they also reach the crowns of centuries-old trees,
destroying them and ultimately enabling rains to erode
the unprotected topsoil. Because of the relative success
of fire-suppression efforts, many forests, including
ponderosa forests, have now been free of fire for
50 years or longer, leaving them vulnerable to these
devastating crown fires. It is therefore increasingly
necessary for land managers in North America to
strive to manage rather than eliminate fires; land
management policies should recognize the essential
role that fire plays in many ecosystems.

Fire behavior depends on the complex interaction
of three factors—topography, weather, and fuel—and
since topography is fixed and weather is unpredictable,
fuel is the only element that land managers can
control. Land managers should therefore focus their
efforts on fuel. A new kind of wildfire management
that is designed to simulate the natural role of fire
through a combination of selective harvesting and
prescribed fires is the most promising method for
controlling fuel. Selective timber harvesting focuses
on smaller trees—markets for this smaller material
do exist—leaving the larger, fire-tolerant trees on the
land and thinning the forest, thereby re-creating the
conditions that allow for low-intensity burns.
Prescribed fire management includes both the
intentional lighting of controlled burns and the policy

(55)

L.

of allowing fires set by lightning to burn when the
weather is damp enough to reduce the risk of extensive
damage. Once fuels are reduced by these fires,
maintenance burns at 15- to 20-year intervals will be
needed. When wildfires inevitably occur, they will be
more easily controlled and do much less damage.

The primary purpose of the passage is to

(A) claim that ideological dogma may be impeding
the enactment of a fundamental and necessary
policy change

compare the actual effects that have resulted from
two different policies designed to have the same
effect

contend that a recently implemented policy
requires a substantial increase in funding

recommend a fundamental policy change in
light of evidence that current policy has created
undesirable conditions

argue that two seemingly contradictory goals of a
policy are actually compatible in a fundamental
way

(B

©
D)

(E)

By “maintenance burns” (line 55) the author most clearly
refers to

(A) the low-intensity fires that regularly occurred in
ancient forests

B) fires that reduce the population density of mature
trees

©) the types of fires that are likely to occur in North
American forest ecosystems today

(D) a type of fire that used to occur at intervals
greater than 50 years

(E) naturally or intentionally set fires that are allowed

to burn to eliminate fuel

GO ON TO THE NEXT PAGE.
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3. Which one of the following sentences would most

logically complete the last paragraph of the passage?

(A) However, if homes were not built in such close
proximity to forests, the damage to developed
property would be limited substantially.

(B) Unfortunately, until foresters recognize the
dangers posed by excess fuel in forests, these
proposals are likely to meet with resistance in
the forestry community.

© But even with these policies, which require some
years to achieve their intended effects, large,
devastating fires will remain a threat in the near
term.

(D) Yet, because smaller trees will likely yield less
profit for timber companies, the ecological
benefits of the new plans must be weighed
carefully against their economic impact.

(E) But given the large financial resources needed to
operate a prescribed fire management system,
the chances of such policies being implemented
are quite small.

The author cites the factors of topography, weather, and
fuel in the last paragraph primarily as part of

(A) the support provided for the contention that land
managers must focus on fuel to reduce the risk
of crown fires

(B) an argument that, given the interaction among
these factors, land managers’ efforts to control
wildfires will always be somewhat ineffective

©) an attempt to provide a clearer understanding
of why forest fires have become unnaturally
devastating

(D) an argument that specific fuel types and forest
densities are dependent on topographic and
weather conditions

(E) the suggestion that fires started by lightning will
continue to be a factor in wildfire suppression
efforts

1

5. The passage provides the most support for inferring that

which one of the following is true of ancient ponderosa
forests?

(A) Ponderosas that thrived in these forests probably
differed genetically from modern ponderosas in
subtle, though significant, ways.

(B) The population density of trees in these
forests was generally lower than it is in many
ponderosa forests today.

© Weather patterns in these forests were
substantially different from weather patterns in
ponderosa forests today.

(D) The diversity of plant species was greater in these
forests than it is in ponderosa forests today.

(E) In addition to clearing out excess fuel, periodic
low-intensity fires helped to control wildlife
populations in these forests.

It can be inferred from the passage that the author would
be most likely to regard a policy in which all forest fires
that were started by lightning were allowed to burn until
they died out naturally as

(A) a viable means of restoring forests currently
vulnerable to catastrophic fires to a cycle of
periodic low-intensity fires

(B) an essential component of a new wildfire
management plan that would also involve the
regulation of timber harvests

©) beneficial to forests that have centuries-old trees,
though harmful to younger forests

(D) currently too extreme and likely to cause the
destruction land managers are seeking to avoid

(E) politically infeasible given the public perception
of the consequences of such fires

GO ON TO THE NEXT PAGE.
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The government of Mali passed a law against
excavating and exporting the wonderful terra-cotta
sculptures from the old city of Djenne-jeno, but it
could not enforce it. And it certainly could not afford
to fund thousands of archaeological excavations.

The result was that many fine Djenne-jeno terra-cotta
sculptures were illicitly excavated in the 1980s and
sold to foreign collectors who rightly admired them.
Because these sites were looted, much of what we
would most like to know about this culture—much that
we could have learned had the sites been preserved by
careful archaeology—may now never be known.

It has been natural to condemn such pillaging.
And, through a number of declarations from UNESCO
and other international bodies, a protective doctrine
has evolved concerning the ownership of many forms
of cultural property (the “UNESCO doctrine™).
Essentially the doctrine provides that cultural artifacts
should be regarded as the property of the culture. For
an individual belonging to that culture, such works are,
using UNESCOQ’s terminology, part of an “artistic and
cultural patrimony.” Further, a number of countries
have strengthened the UNESCO doctrine by declaring
all antiquities that originate within their borders to be
state property that cannot be freely exported.

Accordingly, it seems reasonable that the
government of Mali, within whose borders the
Djenne-jeno antiquities are buried, be the one to
regulate excavating Djenne-jeno and to decide where
the statues should go. Regrettably, and this is a painful
irony, regulations prohibiting export and requiring
repatriation can discourage recording and preserving
information about cultural antiquities, one of the key
reasons for the UNESCO regulations. For example, if
someone in London sells a figure from Djenne-jeno
with documentation that it came out of the ground
there after the regulations were implemented, then the
authorities committed to the restitution of objects
taken illegally out of Mali have the very evidence
they need to seize the figure.

Suppose that from the beginning, Mali had been
helped by UNESCO to exercise its trusteeship of the
Djenne-jeno terra-cotta sculptures by licensing
excavations and educating people to recognize that
such artifacts have greater value when they are removed
carefully from the earth with accurate records of
location. Suppose Mali had required that objects be
recorded and registered before leaving the excavation
site, and had imposed a tax on exported objects to
fund acquisitions of important pieces for the national
museum. The excavations encouraged by such a
system may have been less well conducted and less
informative than proper, professionally administered
excavations by accredited archaeologists. Some people
would still have avoided the rules. But would this not
have been better than what actually happened?

1

7. Which one of the following most accurately expresses the

main point of the passage?

(A) Declarations from UNESCO and other
international bodies concerning the ownership
of cultural artifacts gave rise to a doctrine based
on the notion of artistic and cultural patrimony.

(B) Preserving cultural knowledge at sites like
Djenne-jeno requires solutions that are more
flexible than simply passing laws prohibiting the
excavation and export of antiquities.

© Rather than acceding to the dictates of
international bodies, countries like Mali must
find their own unique solutions to problems
concerning the preservation of cultural heritage.

(D) The government of Mali should have exercised
its trusteeship of the Djenne-jeno terra-
cotta sculptures by licensing only accredited
archaeologists for the excavations.

(E) The idea that a culture’s artistic and cultural
patrimony is the property of the state does more
harm than good in countries like Mali.

The passage indicates that some countries have made use
of the UNESCO doctrine in which one of the following
ways?

(A) requiring the origins of all antiquities sold to
collectors to be fully documented

B) restricting the export of antiquities and declaring
all antiquities originating within the country’s
borders to be state property

© adopting plans to teach people to recognize that
antiquities have greater value when they are
removed carefully from the earth with accurate
records of location

(D) encouraging trade in a particular ancient culture’s
artifacts among countries each of which contains
within its boundaries a portion of that ancient
culture’s territory

(E) committing substantial resources to the
restoration of antiquities taken illegally out of
countries like Mali

The author asks the reader to suppose that Mali had
imposed a tax on exported objects (lines 49—51) primarily
in order to

(A) draw attention to the role of museums in
preserving cultural patrimonies

(B) praise one of the Malian government’s past
policies concerning cultural antiquities

©) present one part of a more pragmatic approach to
regulating the trade in cultural antiquities

D) suggest a means of giving people who excavate
cultural antiquities incentive to keep careful
records

(E) highlight a flaw in the UNESCO doctrine

GO ON TO THE NEXT PAGE.
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10. The author of the passage would be most likely to

11.

agree with which one of the following statements about
UNESCO?

(A) It can play an important role in stemming abuses
that arise from the international trade in cultural
artifacts.

(B) Its stance on cultural artifacts emerged for the
most part in response to Mali’s loss of terra-
cotta sculptures from Djenne-jeno.

© It is more effective with initiatives that involve
individual states than initiatives that involve
several states.

(D) It pays too little attention to the concerns of
countries like Mali.

(E) Its effectiveness in limiting the loss of cultural
knowledge has been hampered by inadequate
funding.

The author of the passage would be most likely to
agree with which one of the following statements about
regulations governing the trade in cultural antiquities in
countries like Mali?

(A) Such regulations must be approved by
archaeologists before being enacted.

(B) Such regulations must have as their goal
maximizing the number of cultural antiquities
that ultimately remain in these countries.

©) Such regulations can be beneficial even if not all
people strictly comply with them.

(D) Such regulations must be accompanied by very
strict punishments for violators.

(E) Such regulations are most effective when they are
very simple and easily understood.

12.

13.

1

The author of the passage would be most likely to agree
with which one of the following statements about cultural
antiquities?

(A) They must be owned and protected by a country’s
national museum.

(B) They must remain within the boundaries of the
country in which they were found.

©) They are too valuable to be owned exclusively by
the state.

(D) They should be excavated by professional
archaeologists when possible.

(E) They belong to whoever finds them and registers
them with the state.

Which one of the following is an element of the author’s
attitude toward foreign collectors of terra-cotta sculptures
from Djenne-jeno?

(A) appreciation of their efforts to preserve cultural
artifacts

B) approval of their aesthetic judgment

© dismay at their failure to take action against
illegal exportation of cultural artifacts

(D) frustration with their lack of concern for the
people of Mali

(E) sympathy with their motives

GO ON TO THE NEXT PAGE.
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The following passage is based on an article published
in 1987.

Medical practitioners are ethically required to
prescribe the best available treatments. In ordinary
patient-physician interactions, this obligation is
unproblematic, but when physicians are clinical
researchers in comparative studies of medical treatments,
special issues arise. Comparative clinical trials involve
withholding one or more of the treatments from at
least one group of patients. Traditionally, most
physicians and ethicists have agreed that in testing a
new treatment on a patient population for which there
exists a currently accepted treatment, the participating
physicians should have no opinion as to which
treatment is clinically superior—a state of mind
usually termed “equipoise.”

Unfortunately, the conception of equipoise that is
typically employed—which I will term “theoretical
equipoise”™—may be too strict. Theoretical equipoise
exists only when the overall evidence for each of two
treatment regimens is judged by each clinical
researcher to be exactly balanced—an ideal hardly
attainable in practice. Clinical researchers commonly
have some preference for one of the treatments being
tested, an intuitive preference perhaps, or one based on
their interpretation and balancing of various sources
of evidence. Even if researchers judged the evidence to
be balanced at the start of a comparative clinical trial,
such a balance would be extremely fragile, liable to
be “tipped” by small accretions of evidence as the
study progresses. Consequently, if the standard of
theoretical equipoise is adhered to, few comparative
clinical trials could commence and even fewer could
proceed to completion.

These difficulties associated with theoretical
equipoise suggest that a different notion of equipoise
should be developed, one that I will label “clinical
equipoise.” Clinical equipoise would impose rigorous
ethical standards on comparative clinical trials without
unreasonably constricting them. One reason for
conducting comparative clinical trials is to resolve a
current or imminent conflict in the expert clinical
community over what treatment is to be preferred for
patients with a given illness. It could be that the
standard treatment is A but new evidence suggests
that B will be superior. Medical experts may be
divided as to which treatment is better, with each side
recognizing that opposing experts can differ honestly
in their interpretation of the evidence.

The very absence of consensus within the expert
clinical community is what makes clinical equipoise
possible. One or more of a comparative clinical trial’s
researchers may have a decided treatment preference
based on their assessments of the evidence. But that is
no ethical bar to participation in the trial. The clinical
researchers must simply each recognize that their less-
favored treatment is preferred by a sizable constituency
within the medical profession as a whole.

14.

15.

16.

The author’s primary purpose in the passage is to

(A)

B

©

(D)

(E)

explain the difference between two conceptions
of an ethical standard together with how these
conceptions would affect comparative clinical
trials

argue for a more reasonable, less restrictive
interpretation of an ethical requirement than
the one traditionally given by ethicists and
physicians

demonstrate that a change in the standards
governing comparative clinical trials will
endanger the ability of researchers to derive
valuable information from such trials

demonstrate the need for clinical researchers
to more closely examine the conceptions
embodied in the ethical standards to which these
researchers adhere

argue for a change in the scientific methods used
for gathering evidence in comparative clinical
trials

The primary purpose of the second paragraph of the
passage is to

(A)
®)
©
(D)

(E)

provide a view that contrasts with arguments in
favor of clinical equipoise

explore the factors underlying physicians’
preferences regarding competing treatments

undermine the moral principle that underlies the
theory of theoretical equipoise

state the main difficulty with adhering to the
standards of theoretical equipoise

illustrate the conflicts inherent in the general
notion of equipoise

According to the passage, which one of the following is

true?

(A)

B

©

(D)

(E)

Comparative clinical trials that meet the standard
of theoretical equipoise generally present no
ethical problems.

Clinical researchers are often forced to suspend
comparative clinical trials prematurely because
initial data from the trials strongly favors one
treatment over another.

A clinical trial comparing treatments is not
rendered unethical merely because one of the
participating physicians has come to favor one
of the treatments over the other.

A comparative clinical trial that meets the
standard of clinical equipoise would therefore
also meet the standard of theoretical equipoise.

Medical researchers generally try to conduct
comparative clinical trials in accordance with
the standard of clinical equipoise.

GO ON TO THE NEXT PAGE.
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17.

18.

Suppose two medical treatments are being compared in a
clinical trial for their effectiveness in treating a condition.
Based on the passage, which one of the following
scenarios would be significantly more likely to jeopardize
theoretical equipoise than clinical equipoise?

(A) The initial results of the trial so strikingly favored
one treatment that they were published and
widely disseminated before the study was even
half over; as a result, most physicians who
specialize in treating the condition came to favor
the more effective treatment before the trial had
ended.

(B) Preliminary results in the trial suggest that the
two treatments are equally effective in treating
the condition; but these results are not reported
while the trial is underway and thus few in the
expert clinical community are aware of them.

©) Several of the physicians participating in the trial
think that one treatment is more effective at
treating the condition than the other; in this they
agree with the consensus view within the expert
clinical community.

(D) Initial results from the trial convince several of
the participating physicians that one treatment
more effectively treats the condition than the
other does; this does not affect their recognition
of the lack of consensus among experts in
treating the disease.

(E) There is consensus among physicians
participating in the trial that both treatments
are equally effective at treating the condition;
however, there is no consensus within the
expert medical community as to the relative
effectiveness of the treatments.

Which one of the following most accurately expresses the
main point of the passage?

(A) The ethical requirement that physicians prescribe
the best available treatment to their patients is
jeopardized by an overly strict conception of
equipoise.

(B) Medical research conducted through comparative
clinical trials is able to achieve more if the
ethical requirements it is bound by are not
overly restrictive.

© It is sometimes ethically acceptable for a
physician to participate in a clinical trial in
which the physician has a decided treatment
preference in favor of one of the treatments
being tested.

(D) Clinical equipoise should be adopted because
it is less likely to unreasonably constrict the
conducting of comparative clinical trials than is
theoretical equipoise.

(E) Even though comparative clinical trials often fail
to meet the standard of theoretical equipoise,
they should not, for that reason, be considered
unethical.

19.

20.

21.

1

As used in line 41 of the passage, the term “community”
most nearly refers to a group of people

(A) who focus on a common set of problems using a
shared body of knowledge

B) who live and work in the same geographical area
as one another

© who share opinions that differ significantly from
those of other groups

(D) whose association with one another is based on
their similar ethical values

(E) whose similar research methods are employed in
unrelated disciplines

According to the passage, which one of the following is
true?

(A) Most clinical trials that are conducted meet the
appropriate ethical standards.

(B) Clinical trials would be conducted more often if
there were a more reasonable ethical standard in
place.

© Theoretical equipoise imposes an ethical standard
on clinical trials that is rarely if ever met.

(D) Most physicians and ethicists believe that the
currently accepted ethical requirements for
comparative clinical trials are adequate.

(E) Most comparative clinical trials are undertaken
to help resolve a conflict of opinion in the
expert clinical community concerning the best
available treatment.

The author’s argument in the third and fourth paragraphs
would be most weakened if which one of the following
were true?

(A) In most comparative clinical trials, the main
purpose is to prove definitively that a treatment
considered best by a consensus of relevant
experts is in fact superior to the alternative being
tested.

B) Physicians participating in comparative clinical
trials rarely ask to leave the trials because early
data favors one of the treatments being tested
over another.

©) The number of comparative clinical trials that are
conducted annually is increasing rapidly, but
the level of ethical oversight of these trials is
decreasing.

(D) Medical ethicists are more inclined than
are clinical researchers to favor an ethical
requirement based on theoretical equipoise over
one based on clinical equipoise.

(E) In clinical trials comparing two treatments, it
rarely occurs that researchers who begin the trial
with no preference for either of the treatments
later develop a strong preference on the basis of
data obtained early in the study.

GO ON TO THE NEXT PAGE.
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Passage A 22.

In 1994, Estonia became the first country to
introduce a “flat tax” on personal and corporate income.
Income is taxed at a single uniform rate of 26 percent:
no schedule of rates, no deductions. So far eight
countries have followed Estonia’s example. An old
idea that for decades elicited the response, “Fine in
theory, just not practical in the real world,” seems to be
working as well in practice as it does on the blackboard.

Practical types who said that flat taxes cannot 23

work offer a further instant objection, once they are
shown such taxes working, namely, that they are unfair.
Enlightened countries, it is argued, have “progressive”
tax systems, requiring high-income earners to forfeit a
bigger share of their incomes in tax than low-income
earners have to pay. A flat tax seems to rule this out
in principle.

Not so. A flat tax on personal incomes combines
a threshold (that is, an exempt amount) with a single

rate of tax on all income above it. The extent to which 24.

such a system is progressive can be varied within wide
limits using just these two variables. Under the systems
operating in most developed countries, the incentives
for high-income earners to avoid tax (legally or
otherwise) are enormous; and the opportunities to do
so, which arise from the very complexity of the codes,
are commensurately large. So it is unsurprising that
high-income earners usually pay about as much tax
under new flat-tax regimes as they would have paid
under the previous codes.

Passage B

A lot of people don’t understand graduated,
as opposed to “flat,” taxes. They think that if you
make more money you pay a higher rate on your

entire earnings, which seems unfair. Actually, 25.

graduated progressive taxes treat all taxpayers equally.
Every taxpayer pays the same rate on equivalent layers
of income. People in higher brackets don’t pay the
higher rate on their entire income, only on the portion
of income over a specified amount. People, not dollars,
are treated equally.

All people are created equal, but not all dollars
are created equal. Earnings of the working poor go
almost entirely for survival expenses such as food,
shelter, and clothing. At that level, every dollar is
critical; even a small difference causes tremendous
changes in quality of life. Middle-income earners are
still very conscious of expenses, but have much greater
flexibility in absorbing small fluctuations in income.

Even some of the flat tax proposals recognize
this, and want to exempt a primary layer from the tax
system. So, since they recognize that survival dollars
are different from discretionary dollars, why go
suddenly from one extreme (paying no taxes) to the
other (paying the top rate)? Since flat tax proposals
are supposed to bring in the same total amount of tax
revenue, if the working poor are going to pay less and
the high-income earners are going to pay less, it is
naturally going to fall on the middle class to make up
the difference.

Both passages are concerned with answering which one
of the following questions?

(A) Can a flat tax be implemented?

B) Do graduated progressive taxes treat all taxpayers
equally?

© Can a flat tax be fair to all taxpayers?

(D) What are some objections to progressive taxes?

(E) Do flat tax regimes reduce illegal tax avoidance?

Both passages seek to advance their arguments by means
of which one of the following?

(A) accusing opponents of shifting their ground

(B) citing specific historical developments as
evidence

© arguing on the basis of an analogy

D) employing rhetorical questions

(E) correcting alleged misunderstandings

Which one of the following, if true of countries that have
gone from a graduated progressive tax system to a flat
tax, would most support the position of passage B over
that of passage A?

(A) Revenues from taxation have remained the same
as before.

(B) The tax codes in these countries have been
greatly simplified.

© Most high-income taxpayers believe that they
remain overtaxed.

(D) Middle-income taxpayers tend to pay higher
taxes than before.

(E) Some legislators favor a return to a graduated

progressive system.

Which one of the following is a conclusion for which
passage A argues but that passage B does not address?

(A) that exempting a threshold amount enables a flat

tax to avoid unfairness

B) that flat tax proposals are not practical in the real
world

© that higher taxes on high-income earners inhibit
investment and economic growth

(D) that a flat tax decreases opportunities and
incentives for high-income earners to avoid tax

(E) that a progressive tax is unfair to taxpayers who

end up paying more

GO ON TO THE NEXT PAGE.
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The authors of the two passages would be most likely to

disagree over whether

(A)
(B

©
(D)

(E)

a flat tax system can be progressive
high-income earners would pay less under a flat
tax system than under a graduated progressive

system

flat tax systems are fine in theory but cannot be
put into practice

graduated progressive systems make higher-
income taxpayers pay a higher rate on their
entire earnings

all of an individual’s income should be subject to
taxation

STOP

217.

“1

Which one of the following, if true, would be the most
reasonable response for the author of passage B to make
to the final argument of passage A?

(A)

®)

©

D)

(E)

Even under a flat-tax regime, it will be possible
for some with high incomes to avoid taxes by
underreporting their incomes.

Existing tax codes allow tax avoidance by those
with high incomes mainly because they contain
loopholes and special deductions, not because
they are graduated.

It is unfair to those with high incomes to single
them out as tax avoiders, since people at all
income levels have been known to try to avoid
taxes, sometimes illegally.

Most taxpayers prefer a system that affords them
opportunities for avoiding taxes over one that
does not afford such opportunities.

The goal of reducing tax avoidance would be
advanced by eliminating income taxes altogether
in favor of taxes on consumption of goods and
services.

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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Directions: The questions in this section are based on the reasoning contained in brief statements or passages. For some
questions, more than one of the choices could conceivably answer the question. However, you are to choose the best answer; that
is, the response that most accurately and completely answers the question. You should not make assumptions that are by
commonsense standards implausible, superfluous, or incompatible with the passage. After you have chosen the best answer,
blacken the corresponding space on your answer sheet.

L.

Treat training consists of rewarding dogs with edible
treats whenever they respond appropriately to commands.
Most dogs will quickly learn what they need to do to
receive a treat, so this appears to be an effective training
method. However, most dogs who have been treat-trained
will not obey commands unless they are shown a treat.
Since you cannot always have treats on hand, you should
instead use praise and verbal correction to train your dog.

Which one of the following principles, if valid, most
helps to justify the reasoning above?

(A) The more quickly a dog learns to respond to a
stimulus, the more likely it is that the owner will
continue to use that stimulus.

B) The more often a dog is given a stimulus, the
more likely it is that the dog will obey its
owner’s command even when the owner does
not provide that stimulus.

©) A dog should be trained by the method that
results in a high obedience rate in at least some
circumstances.

(D) A dog should be trained to respond to a stimulus
that its owner can supply in all situations.

(E) A dog should not be trained by a method that has
not proven to be effective for any other dogs.

2. Archaeologist: For 2,000 years the ancient Sumerians

depended on irrigation to sustain the agriculture
that fed their civilization. But eventually
irrigation built up in the soil toxic levels of

the salts and other impurities left behind when
water evaporates. When its soil became unable
to support agriculture, Sumerian civilization
collapsed. A similar fate is thus likely to befall
modern civilizations that continue to rely heavily
on irrigation for agriculture.

Which one of the following, if true, most weakens the
archaeologist’s argument?

(A)

B

©

(D)
(E)

Most modern civilizations could not feed
themselves through agriculture without relying
heavily on irrigation.

Factors unrelated to the use of irrigation would
probably have caused Sumerian civilization to
collapse sooner or later.

Many modern farmers use irrigation techniques
that avoid the buildup of salts and other toxic
impurities in the soil.

Many modern civilizations do not rely to any
significant extent on irrigation for agriculture.

The soil of ancient Sumeria already contained
some toxic salts and other impurities before
the Sumerians started using irrigation for
agriculture.

3. Researcher: Dinosaur fossils come in various forms,

including mineralized bones and tracks in dried
mud flats. However, mineralized dinosaur bones
and dinosaur tracks in dried mud flats are rarely
found together. This isn’t surprising, because
creatures that scavenged dinosaur carcasses most
likely frequented mud flats to find food.

Which one of the following, if true, would most
strengthen the researcher’s argument?

(A)
®)
©
(D)
(E)

Dinosaur tracks are also found in locations other
than mud flats.

Scavengers commonly drag a carcass away from
the site where it was found.

Researchers have found more fossil dinosaur
tracks than fossil dinosaur bones.

Dinosaur fossils other than mineralized bone or
tracks in dried mud flats are quite common.

It takes longer for bone to mineralize than it takes
for tracks to dry in mud flats.

GO ON TO THE NEXT PAGE.
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4. Electric stovetop burners would cause fewer fires if their

highest temperature were limited to 350°C (662°F),
which provides more than enough heat for efficient and
effective cooking. The lowest temperature at which
cooking oil and most common fibers ignite is 387°C, and
electric burners on high go well above 700°C.

Which one of the following most accurately expresses the
conclusion drawn in the argument?

(A) Electric stovetop burners would cause fewer
fires if their highest temperature were limited to
350°C.

(B) A maximum temperature of 350°C provides more
than enough heat for efficient and effective
cooking.

© The lowest ignition temperature for cooking oil
and most common fibers is 387°C.

(D) Electric burners on high go well above 700°C.

(E) Electric stovetop burners cause fires because they
go well above 700°C when set on high.

Jenkins maintains that the movie Firepower was not
intended to provoke antisocial behavior, arguing that, on
the contrary, it is in the interest of Firepower’s director
to prevent such behavior. Yet Jenkins’s conclusion must
be rejected, because the movie has clearly produced
antisocial behavior among many of those who have seen
1t.

The reasoning in the argument is flawed in that it

(A) rejects an argument on the grounds that it was
offered by a person who was biased

B) concludes from a mere correlation between
certain phenomena that those phenomena are
causally related

© infers that something is true of a whole solely on
the grounds that it is true of a part of the whole

(D) overlooks the possibility that people can act in a
way that is contrary to their expressed interest

(E) concludes from the mere fact that an action had a
certain effect that the effect was intended by the
person who performed the action

P2 -2

6. The word “loophole” is a loaded, partisan word, one

that implies wrongdoing and scandal. When “loophole”
creeps into news stories, they start to read like editorials.
So news reporters should not use the term “loophole” in
their stories unless they provide evidence of wrongdoing.

Which one of the following principles, if valid, most
helps to justify the reasoning in the argument?

(A) Making use of a loophole never constitutes
wrongdoing or scandal.

(B) Editorials should meet the same journalistic
standards as news stories.

© News stories need to give evidence to back up
any suggestions of misconduct.

(D) Editorial writers should be free to use loaded,
partisan words.

(E) News reporters should not report on wrongdoing
and scandal that is not a matter of public
interest.

Expert: Some people claim that, since food production
has thus far increased faster than population has,
there is no need to be concerned about widespread
food shortages. These people fail to recognize
that the planet’s resources allow for food to be
produced at only a few times the current amount,
beyond which no increase in production will be
possible. Thus, widespread food shortages are
inevitable.

Which one of the following, if true, most strengthens the
expert’s reasoning?

(A) The world’s food resources, though limited, are
renewable.

(B) Food resources from the world’s oceans will
eventually be fully utilized.

© The world’s population has recently remained
fairly stable because of falling birth rates.

(D) Periodic regional food shortages have occurred at
least briefly throughout history.

(E) Population will continue to grow at least briefly
when food production has reached its maximum
level.

GO ON TO THE NEXT PAGE.
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8.

In the earliest video games, the player typically controlled
the movements of a simple icon on the screen. But in
newer video games, players often control the movements
of detailed human figures—a feature possible because of
the greater technical sophistication of these games. It is
hard for players to identify with these figures, since the
players can see that the figures represent other people.
Thus, in this respect the technical sophistication of the
newer video games often makes them less compelling to
players.

The conclusion of the argument can be properly drawn if
which one of the following is assumed?

(A) There are no newer, more technically
sophisticated video games in which the player
controls the movements of a simple icon on the
screen.

(B) Most early video games in which the player
controlled a simple icon on the screen were in
other respects less compelling to players than
newer video games.

© The technical sophistication necessary for
creating detailed human figures in video games
cannot in itself make those video games fully
compelling even to players who identify with
those figures.

(D) When players cannot easily identify with the
figure or icon whose movements they control in
a video game, they usually find that game less
compelling than it otherwise would be.

(E) If some aspect of a video game’s technical
sophistication makes it less compelling to
players, then that video game contains a human
figure with whom it is difficult for players to
identify.

9.

10.

There are many agricultural regions in North America
where the growing season is long enough to allow
pumpkin production well into autumn with no risk of
frost. Nonetheless, pumpkin production in North America
is concentrated in regions with long, cold winters, where
the growing season is delayed and pumpkin crops are
exposed to risk of damage or destruction by early autumn
frosts.

Which one of the following, if true, most helps to resolve
the apparent discrepancy in the information above?

(A) Pumpkins are usually grown to reach maturity in
autumn.

(B) Pumpkins depend on bees for pollination, and
bees are active only in warm weather.

© More pumpkins are sold to consumers in regions
of North America with long growing seasons
than to those in regions with short growing
seasons.

(D) Prolonged cold temperatures kill soil-borne
fungus and other sources of disease that would
kill or seriously damage pumpkins.

(E) Most of the pumpkin seed used by growers in
North America is produced in areas where the
growing season is long, and plants used for seed
production are protected in greenhouses.

Council chair: The traditional code of parliamentary
procedure contains a large number of obscure,
unnecessary rules, which cause us to quibble
interminably over procedural details and so
to appear unworthy of public confidence.
Admittedly, the code is entrenched and widely
accepted. But success in our endeavors depends
on the public’s having confidence in our
effectiveness. Therefore, it is imperative that
we adopt the alternate code, which has been in
successful use elsewhere for several years.

Which one of the following, if true, most seriously
undermines the chair’s conclusion?

(A) The council’s use of the problematic rules in the
traditional code is intermittent.

(B) Those who have adopted the alternate code
sometimes attempt to use it to obscure their
opponents’ understanding of procedures.

©) Revision of the traditional code is underway that
will eliminate the problematic rules.

(D) It is not always reasonable to adopt a different
code in order to maintain the public’s
confidence.

(E) The alternate code contains few provisions that
have thus far been criticized as obscure or
unnecessary.

GO ON TO THE NEXT PAGE.
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11.

12.

Businesses frequently use customer surveys in an attempt
to improve sales and increase profits. However, a recent
study of the effectiveness of these surveys found that
among a group of businesses that sold similar products,
profits declined in most of the businesses that used
surveys during the course of the study but not in most

of the businesses that did not use any surveys during the
course of the study.

Which one of the following, if true, most helps to explain
why the profits of businesses that did not use customer
surveys did not decline while the profits of those that
used surveys did decline?

(A) When one business increases its profits, its
competitors often report a decline in profits.

(B) Some businesses routinely use customer surveys.

© Most businesses of the kind included in the study
generally administer customer surveys only as a
response to complaints by customers.

(D) Customers who complete surveys do not always
respond accurately to all the questions on the
survey.

(E) Some of the businesses included in the study did
not analyze the results of the customer surveys
they conducted.

Humans’ emotional tendencies are essentially unchanged
from those of the earliest members of our species.
Accordingly, although technology makes possible a wider
range of individual and societal choices than in centuries
past, humans are generally unable to choose more wisely.

The argument depends on assuming which one of the
following?

(A) Humans have undergone no significant changes
since the origin of the species.

(B) Humans who make wise choices are generally in
control of their emotions.

© Human history cannot make humans any wiser
unless humans are emotionally disposed to heed
the lessons of history.

(D) Regardless of the range of choices available
to humans, they choose on the basis of their
emotions alone.

(E) Humans would now be able to make wiser
choices than in centuries past only if an essential
change had taken place in humans’ emotional
dispositions.

13.

14.

15 2
Some ornithologists believe that many species of
songbirds are threatened by deforestation. Yet they also
claim that, despite recent reforestation, matters continue
to worsen, since it is fragmentation of forest rather than
reduction of forest size that endangers songbird species.
The introduction of open spaces and corridors in forests
reduces the distance of songbird nests from unforested
areas and thus reduces the songbirds’ natural shield from
predators.

The claim that there has recently been reforestation plays
which one of the following roles in the ornithologists’
argument?

(A) It is used as evidence that various species of
songbirds will continue to be threatened with
extinction.

(B) It is presented as a claim that is rejected by
ornithologists who present declining songbird
populations as evidence of deforestation.

© It is presented as a phenomenon that is
compatible with the ornithologists’ claim that
the threat to songbirds continues to worsen.

(D) It is used as evidence that songbirds’ predators
will continue to have a habitat and so will
continue to pose a threat to songbirds.

(E) It is presented as evidence for the claim that
songbirds’ predators are threatened by extinction
unless they have open spaces and corridors that
give them access to their prey.

Researchers recently studied the relationship between
diet and mood, using a diverse sample of 1,000 adults.
It was found that those who ate the most chocolate were
the most likely to feel depressed. Therefore, by reducing
excessive chocolate consumption, adults can almost
certainly improve their mood.

The argument is most vulnerable to criticism on which
one of the following grounds?

(A) It improperly infers from the fact that a substance
causally contributes to a condition that a
reduction in the consumption of the substance is
likely to eliminate that condition.

B) It draws a conclusion about the population as a
whole on the basis of a sample that is unlikely to
be representative of that population.

© It draws a conclusion about a causal relationship
between two phenomena from evidence that
merely suggests that there is a correlation
between those phenomena.

(D) It confuses a condition that is necessary for
establishing the truth of the conclusion with a
condition that is sufficient for establishing the
truth of the conclusion.

(E) Its conclusion is worded too vaguely to evaluate
the degree to which the premises support the
truth of the conclusion.

GO ON TO THE NEXT PAGE.
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15.

16.

Among the many temptations of the digital age,
manipulation of photographs has proved particularly
troublesome for science. Recently, a journal of cellular
biology began using a software tool to examine the digital
images submitted along with articles for publication. It
discovered that dozens of authors had submitted digital
images that had been manipulated in ways that violated
the journal’s guidelines. Clearly, scientific fraud is a
widespread problem among the authors submitting to that
journal.

Which one of the following is an assumption required by
the argument?

(A) The scientists who submitted manipulated images
were aware that the journal used software
to examine digital images for evidence of
manipulation.

(B) The journal requires that all articles submitted for
publication include digital images.

©) Scientific fraud is possible in the field of cellular
biology only if the research is documented with
digital images.

(D) Many of the scientists who submitted articles
with manipulated images did so in order to
misrepresent the information conveyed by those
images.

(E) Scientific fraud is a widespread problem only
among scientists who submit articles to journals
of cellular biology.

There are already more great artworks in the world than
any human being could appreciate in a lifetime, works
capable of satisfying virtually any taste imaginable. Thus,
contemporary artists, all of whom believe that their works
enable many people to feel more aesthetically fulfilled
than they otherwise could, are mistaken.

The argument is most vulnerable to criticism on the
grounds that it

(A) overlooks the possibility that not all
contemporary artists believe that their works
enable many people to feel more aesthetically
fulfilled than they otherwise could

B) presumes, without providing justification, that
most human beings are inclined to take the time
to appreciate many great artworks

© presumes, without providing justification, that
the value of an artwork depends on the degree to
which human beings appreciate it

(D) overlooks the possibility that the work of at least
one contemporary artist is appreciated by many
people whose access to the great majority of
other artworks is severely restricted

(E) presumes, without providing justification, that the
number and variety of great artworks already
in the world affects the amount of aesthetic
fulfillment derivable from any contemporary
artwork

17.

18.

The government health service has said that it definitely
will not pay for patients to take the influenza medicine
Antinfia until the drug’s manufacturer, PharmCo,
provides detailed information about Antinfia’s cost-
effectiveness. PharmCo has responded that obtaining
such information would require massive clinical trials.
These trials cannot be performed until the drug is in
widespread circulation, something that will happen only
if the government health service pays for Antinfia.

If the statements of both the government health service
and PharmCo are true, which one of the following is most
likely to also be true?

(A) The government health service never pays for any
medicine unless that medicine has been shown
to be cost-effective.

B) Antinfia will never be in widespread circulation.

© If the government health service does not pay
for Antinfia, then many patients will pay for
Antinfia themselves.

(D) The government health service should pay for
patients to take Antinfia.

(E) Antinfia is not cost-effective.

Journalist: Scientists took blood samples from two large,
diverse groups of volunteers. All the volunteers
in one group reported that they enjoyed eating
vegetables, whereas all those in the other group
disliked vegetables. When the blood samples from
the group that disliked vegetables were analyzed,
it was discovered that all the volunteers in that
group had a gene in common, the XRV2G gene.
This strongly suggests that a dislike of vegetables
is, at least in some cases, genetically determined.

The journalist’s argument is most vulnerable to criticism
on which one of the following grounds?

(A) It presumes that all human traits are genetically
determined.

B) It overlooks the possibility that the volunteers
in one or both of the two groups may not have
been representative of the human population as
a whole in one or more respects.

©) It overlooks the possibility that even when
one phenomenon always produces another
phenomenon, the latter phenomenon may often
be present when the former is absent.

(D) It overlooks the possibility that even if a dislike
of vegetables is genetically determined, it may
be strongly influenced by genes other than the
XRV2G gene.

(E) It takes for granted that the volunteers in the
group that enjoyed eating vegetables did not
also all have the XRV2G gene in common.
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19.

20.

Ana: On libertarian principles, I oppose the proposed 21.

smoking ban. It is not the government’s business
to prevent people from doing things that harm
only themselves.

Pankaj: But keep in mind that the ban would apply only
to smoking in public places. People could still
smoke all they want in private.

The dialogue provides the most support for the claim that
Ana and Pankaj disagree over whether

(A) it is the government’s business to prevent people
from harming themselves

B) government should be restrained by libertarian
principles

©) the proposed smoking ban is intended to prevent
harm only to smokers themselves

(D) the proposed ban would prohibit smoking in
public places

(E) there are cases in which government should

attempt to regulate private behavior

Agricultural scientist: Wild apples are considerably
smaller than cultivated apples found in
supermarkets. In one particular region,
archaeologists have looked for remains of
cultivated apples dating from 5,000 years ago,
around the time people first started cultivating
fruit. But the only remains of apples that
archaeologists have found from this period are
from fruits the same size as the wild apples
native to the region. So apples were probably not
cultivated in this region 5,000 years ago.

The agricultural scientist’s argument is most vulnerable
to criticism on the grounds that the argument

(A) fails to consider that even if a plant was not
cultivated in a given region at a specific time, it
may have been cultivated in nearby regions at
that time

fails to consider that plants that have been
cultivated for only a short time may tend to
resemble their wild counterparts much more
closely than plants that have been cultivated for
a long time

takes for granted that all apples are either the
size of wild apples or the size of the cultivated
apples now found in supermarkets

employs a premise that is incompatible with the
conclusion it is supposed to justify

uses a claim that presupposes the truth of its main
conclusion as part of the justification for that
conclusion

®)

©

D)
(E)

"2

Genuine happiness consists not in pleasurable feelings
but instead in one’s sense of approval of one’s character
and projects. Thus the happy life, in fact, tends to be the
good life, where the good life is understood not—as it
usually is these days—as a life of material well-being but
rather as a morally virtuous life.

Which one of the following is an assumption required by
the argument?

(A) A morally virtuous life requires the rejection of
material well-being.

(B) People who approve of their own character and
projects tend to lead morally virtuous lives.

© Approval of one’s own character and projects
tends not to result in pleasurable feelings.

(D) Attaining happiness is the real goal of people
who strive for material well-being.

(E) Material well-being does not increase one’s sense

of approval of one’s character and projects.

GO ON TO THE NEXT PAGE.
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22.

The return of organic wastes to the soil is a good

solution to waste disposal problems only if the wastes

are nontoxic and not too much energy is expended in
transporting them. In small-scale organic farming, the
wastes are nontoxic and not too much energy is expended
in transporting them. Hence, returning organic wastes to
the soil is a good way for small-scale organic farms to
solve their waste disposal problems.

Which one of the following exhibits flawed reasoning
most similar to the flawed reasoning exhibited by the
argument above?

(A) Plants thrive if they get an abundance of
moisture, light, and nutrients. In greenhouses,
plants get an optimal combination of all three,
which is why commercially produced plants are
so healthy when you first buy them.

(B) When every country has equal access to markets,
which will be the case 20 years from now,
globalization of markets will provide a way for
each country to optimize its use of resources.
So, globalization of markets will show the
desired results 20 years from now.

© To be viable, a business idea must be clear, cost-
effective, practical, and responsive to a market
demand. Your idea for a website information
service has all these properties, so it is viable.

(D) Those competitors—and only those—who meet
all of the following criteria are eligible for the
award: they must be under 19 years of age, be in
secondary school, and have played the sport for
at least the two years immediately preceding the
competition. You meet all the criteria, so you
are eligible.

(E) A meal is nutritious only if it includes both
carbohydrates and protein. Almost 80 percent
of the calories in what I ate for lunch were from
fat, so what I ate for lunch was not nutritious.

23. Scientist: Some colonies of bacteria produce antibiotic

molecules called phenazines, which they use

to fend off other bacteria. We hypothesize that
phenazines also serve as molecular pipelines that
give interior bacteria access to essential nutrients
in the environment surrounding the colony.

Which one of the following, if true, provides the most
support for the scientist’s hypothesis?

(A) Bacteria colonies that do not produce phenazines
form wrinkled surfaces, thus increasing the
number of bacteria that are in direct contact with
the surrounding environment.

(B) The rate at which a bacteria colony produces
phenazines is determined by the number of
foreign bacteria in the environment immediately
surrounding the colony.

©) When bacteria colonies that do not produce
phenazines are buried in nutrient-rich soil, they
grow as quickly as colonies that do produce
phenazines.

(D) Bacteria colonies that produce phenazines
are better able to fend off other bacteria than
are bacteria colonies that do not produce
phenazines.

(E) Within bacteria colonies that produce phenazines,
interior bacteria are more likely to die than are
bacteria along the edges.

Library preservationist: Due to the continual physical
deterioration of the medieval manuscripts in our
library’s collection, we have decided to restore
most of our medieval manuscripts that are of
widely acknowledged cultural significance, though
this means that some medieval manuscripts whose
authenticity is suspect will be restored. However,
only manuscripts whose safety can be ensured
during the restoration process will be restored, and
manuscripts that are not frequently consulted by
researchers will not be restored.

If all of the library preservationist’s statements are true,
which one of the following must be true of the medieval
manuscripts in the library’s collection?

(A) Some of the medieval manuscripts whose
authenticity is suspect are frequently consulted
by researchers.

(B) All of the medieval manuscripts widely
acknowledged to be of cultural significance are
manuscripts whose safety can be ensured during
the restoration process.

© All of the medieval manuscripts whose safety can
be ensured during the restoration process are
frequently consulted by researchers.

(D) The medieval manuscripts most susceptible to
deterioration are those most frequently consulted
by researchers.

(E) None of the medieval manuscripts that are
rarely consulted by researchers is widely
acknowledged to be of cultural significance.
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25.

Direct-mail advertising usually consists of advertisements
for products to be purchased from the home, so the
perception that it is bad for the environment is misguided.
Because of direct-mail advertising, millions of people buy
products by phone or online—products whose purchase
would otherwise require the use of a car, thus adding
pollutants to the air.

Which one of the following, if true, would most
strengthen the argument?

(A) Although the primary intent of most direct-mail
advertisers is to convince people to buy products
from their homes, direct mail can also lead
to increased sales in stores by customers who
prefer to see a product prior to purchasing it.

(B) Most of the products purchased in response to
direct-mail advertisements would be purchased
even without the direct-mail advertisements.

© A person who receives and reads a direct-mail
advertisement is more likely to purchase the
product advertised than is a person who reads an
advertisement for a product in a magazine that
they subscribe to.

(D) Usually, a company that sends out direct-mail
advertisements has good reason to think that the
person to whom the advertisement is sent would
be more interested in the product than would the
average person.

(E) Products purchased as the result of direct-mail
advertising comprise an increasingly large
portion of the consumer products purchased
each year.

STOP

26.

"2

The older a country is, the more likely it is to be ruled by
a monarch. Thus, since most countries are not ruled by
monarchs, if a country is particularly new it is probably
not ruled by a monarch.

The pattern of reasoning in the argument above is most
similar to that in which one of the following arguments?

(A) Most novels are not made into movies. However,
the more popular a novel is, the more likely it
is to be made into a movie. Thus, if a movie is
quite unpopular, it was probably not based on a
novel.

(B) Most novels are not made into movies. However,
the more popular a movie is, the more likely it is
that the movie was based on a novel. Thus, if a
novel is particularly popular, it will probably be
made into a movie.

© Most novels are not made into movies. Moreover,
if a novel is particularly unpopular, it will
probably not be made into a movie. Thus, the
more popular a novel is, the more likely it is to
be made into a movie.

(D) Most novels are not made into movies. However,
the more popular a novel is, the more likely it
is to be made into a movie. Thus, if a novel is
quite unpopular, it will probably not be made
into a movie.

(E) Most novels are not made into movies. Moreover,
the more complex a novel’s plot, the less likely
the novel is to be made into a movie. Thus, if
a novel has a particularly simple plot, it will
probably be made into a movie.

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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SECTION III
Time—35 minutes
25 Questions

Directions: The questions in this section are based on the reasoning contained in brief statements or passages. For some
questions, more than one of the choices could conceivably answer the question. However, you are to choose the best answer; that
is, the response that most accurately and completely answers the question. You should not make assumptions that are by
commonsense standards implausible, superfluous, or incompatible with the passage. After you have chosen the best answer,
blacken the corresponding space on your answer sheet.

1. Dentist: I recommend brushing one’s teeth after every

meal to remove sugars that facilitate the growth
of certain bacteria; these bacteria produce acid
that dissolves minerals in tooth enamel, resulting
in cavities. And when brushing is not practical,

I recommend chewing gum—even gum that
contains sugar—to prevent the formation of
cavities.

Which one of the following, if true, would most help
to reconcile the dentist’s apparently paradoxical

recommendations?

(A) A piece of chewing gum that contains sugar
contains far less sugar than does the average
meal.

(B) Tooth decay can be stopped and reversed if it is
caught before a cavity develops.

©) Chewing gum stimulates the production of saliva,
which reduces acidity in the mouth and helps
remineralize tooth enamel.

(D) Sugars can be on teeth for as long as 24 hours
before the teeth-damaging bacteria whose
growth they facilitate begin to proliferate.

(E) Chewing gum exercises and relaxes the jaw

muscles and so contributes to the overall health
of the oral tract.

2. When the ancient fossils of a primitive land mammal
were unearthed in New Zealand, they provided the
first concrete evidence that the island country had once
had indigenous land mammals. Until that discovery,
New Zealand had no known native land mammals. The
discovery thus falsifies the theory that New Zealand’s
rich and varied native bird population owes its existence
to the lack of competition from mammals.

Which one of the following, if true, most seriously
weakens the argument?

(A)

®)

©

(D)

(E)

The unearthed land mammal is only one of
several ancient land mammals that were
indigenous to New Zealand.

The recently discovered land mammal became
extinct long before the native bird population
was established.

The site at which the primitive land mammal was
unearthed also contains the fossils of primitive
reptile and insect species.

Countries with rich and varied native land
mammal populations do not have rich and varied
native bird populations.

Some other island countries that are believed
to have no native land mammals in fact had
indigenous land mammals at one time.
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3. Restaurant owner: The newspaper reporter who panned

my restaurant acknowledges having no special
expertise about food and its preparation. His
previous job was as a political reporter. He is a
good writer, but he is not a true restaurant critic.
A newspaper would never call someone a drama
critic who had no special training in theater.

Which one of the following most accurately expresses the
conclusion drawn in the restaurant owner’s argument?

(A) The newspaper reporter who panned the
restaurant acknowledges having no special
expertise about food and its preparation.

B) The previous job of the newspaper reporter who
panned the restaurant was as a political reporter.

© The newspaper reporter who panned the
restaurant is a good writer.

(D) The newspaper reporter who panned the
restaurant is not a true restaurant critic.

(E) A newspaper would never call someone a drama
critic who had no special training in theater.

It has been hypothesized that our solar system was
formed from a cloud of gas and dust produced by a
supernova—an especially powerful explosion of a
star. Supernovas produce the isotope iron-60, so if
this hypothesis were correct, then iron-60 would have
been present in the early history of the solar system.
But researchers have found no iron-60 in meteorites
that formed early in the solar system’s history, thereby
disproving the hypothesis.

Which one of the following is an assumption required by
the argument?

(A) If a meteorite is formed early in the solar
system’s history, it contains chemical elements
that are unlikely to be found in gas and dust
produced by a supernova.

(B) Other solar systems are not formed from clouds
of gas and dust produced by supernovas.

© Supernovas do not produce significant quantities
of any form of iron other than iron-60.

(D) Researchers have found iron-60 in meteorites that
were formed relatively late in the solar system’s
history.

(E) If there had been iron-60 present in the early
history of the solar system, it would be found
in meteorites formed early in the solar system’s
history.

monoxide so that it will not turn brown as it ages.
Treating tuna with carbon monoxide does not
make it harmful in any way. Nonetheless, there

is a danger that such treatment will result in more
people getting sick from eating tuna.

5. Safety expert: Tuna is often treated with carbon

Which one of the following, if true, most helps to
resolve the apparent discrepancy in the safety expert’s
statements?

(A) Workers in fish processing plants can be
sickened by exposure to carbon monoxide if the
appropriate safety procedures are not followed
at those plants.

B) Over the last several years, tuna consumption has
increased in most parts of the world.

© Tuna that is treated with carbon monoxide
provides no visible indication when it has
spoiled to the point that it can cause food
poisoning.

(D) Treating tuna with carbon monoxide is the only
way to keep it from turning brown as it ages.

(E) Most consumers strongly prefer tuna that is not
brown because they believe that brown tuna is
not fresh.

Astrophysicist: Gamma ray bursts (GRBs)—explosions
of powerful radiation from deep space—have
traditionally been classified as either “short” or
“long,” terms that reflect the explosion’s relative
duration. However, an unusual GRB has been
sighted. Its duration was long, but in every other
respect it had the properties of a short GRB.
Clearly, the descriptive labels “short” and “long”
have now outlived their usefulness.

The conclusion of the astrophysicist’s argument is most
strongly supported if which one of the following is
assumed?

(A) No other GRBs with unusual properties have
been sighted.

(B) The classification of GRBs can sometimes be
made on the basis of duration alone.

©) Properties other than duration are more important
than duration in the proper classification of the
unusual GRB.

(D) GRBs cannot be classified according to the
different types of cosmic events that create
them.

(E) Descriptive labels are easily replaced with
nondescriptive labels such as “type I’ and “type
.

GO ON TO THE NEXT PAGE.
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In one study, hospital patients’ immune systems grew
stronger when the patients viewed comic videos. This
indicates that laughter can aid recovery from illness. But
much greater gains in immune system strength occurred
in the patients whose tendency to laugh was greater to
begin with. So hospital patients with a greater tendency to
laugh are helped more in their recovery from illness even
when they laugh a little than other patients are helped
when they laugh a greater amount.

The argument is most vulnerable to criticism on the
grounds that it

(A) overlooks the possibility that the patients whose
tendency to laugh was greater to begin with
laughed more at the comic videos than did the
other patients

(B) fails to address adequately the possibility that the
patients whose tendency to laugh was greatest
to begin with already had stronger immune
systems than the other patients

© presumes, without providing justification,
that hospital patients have immune systems
representative of those of the entire population

(D) takes for granted that the gains in immune system
strength did not themselves influence the
patients’ tendency to laugh

(E) presumes, without providing justification, that the
patients whose tendency to laugh was greatest to
begin with recovered from their illnesses more
rapidly than the other patients

A study of guppy fish shows that a male guppy will
alter its courting patterns in response to feedback from a
female guppy. Males with more orange on one side than
the other were free to vary which side they showed to a
female. Females were drawn to those males with more
orange showing, and males tended to show the females
their more orange side when courting.

Which one of the following, if true, provides the most
support for the argument?

(A) When a model of a female guppy was substituted
for the female guppy, male guppies still courted,
but were not more likely to show their side with
more orange.

(B) In many other species females show a preference
for symmetry of coloring rather than quantity of
coloring.

©) No studies have been done on whether male
guppies with more orange coloring father more
offspring than those with less orange coloring.

(D) Female guppies have little if any orange coloring
on their sides.

(E) The male and female guppies were kept in
separate tanks so they could see each other but
not otherwise directly interact.

9. Politician: Some proponents of unilateral nuclear arms

reduction argue that it would encourage other
countries to reduce their own nuclear arsenals,
eventually leading to an international agreement
on nuclear arms reduction. Our acting on the basis
of this argument would be dangerous, because

the argument ignores the countries presently on
the verge of civil wars. These countries, many of
which have nuclear capability, cannot be relied
upon to conform to any international military
policy.

Which one of the following most accurately expresses the
conclusion of the politician’s argument?

(A) Countries that are on the verge of civil wars are
unlikely to agree to reduce either their nuclear
arms or their conventional weapons.

(B) Unilateral nuclear arms reduction by the
politician’s country would encourage all
countries to reduce their nuclear arsenals.

©) Many countries cannot be relied upon to disclose
the extent of their nuclear capability.

(D) It is unlikely that an international agreement on
nuclear disarmament will ever be achieved.

(E) It is risky for the politician’s country to
unilaterally reduce nuclear arms in hopes of
achieving an international agreement on arms
reduction.

GO ON TO THE NEXT PAGE.
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10. Advertisement: Auto accidents are the most common

11.

cause of whiplash injury, a kind of injury that

is caused by a sudden sharp motion of the neck.
However, many other types of accidents can
produce a sudden sharp motion of the neck and
thereby result in whiplash injury. A sudden sharp
motion of the neck can be caused by a fall, a
bump on the head, or even by being shoved from
behind. That is why you should insist on receiving
Lakeside Injury Clinic’s complete course of
treatment for whiplash after any accident that
involves a fall or a bump on the head.

Which one of the following, if true, provides the strongest
basis for criticizing the reasoning in the advertisement?

(A) Being shoved from behind rarely causes
whiplash.

(B) Auto accidents often involve falling or being
bumped on the head.

©) Nonautomobile accidents other than those
involving falls or bumps on the head also
occasionally cause whiplash injuries.

(D) It is very uncommon for falling or being bumped
on the head to result in a sudden sharp motion of
the neck.

(E) The appropriate treatment for whiplash caused by
a fall or a bump on the head is no different from
that for whiplash caused by an auto accident.

A group of citizens opposes developing a nearby
abandoned railroad grade into a hiking trail. Its members
argue that trail users will likely litter the area with

food wrappers and other debris. But this objection is
groundless. Most trail users will be dedicated hikers who
have great concern for the environment. Consequently,
development of the trail should proceed.

The argument above is flawed in that it

(A) bases its conclusion mainly on a claim that an
opposing argument is weak

(B) illicitly infers that because each member of a
set has a certain property that set itself has the
property

© illicitly assumes as one of its premises the
contention it purports to show

(D) illicitly infers that an attribute of a few users of
the proposed trail will characterize a majority of
users of the trail

(E) attacks the citizens in the group rather than their
objection to developing the trail

13.

For years, university administrators, corporations, and
government agencies have been predicting an imminent
and catastrophic shortage of scientists and engineers. But
since there is little noticeable upward pressure on the
salaries of scientists and engineers, and unemployment is
as high in these fields as any other, these doomsayers are
turning out to be wrong.

Which one of the following would, if true, most
strengthen the argument above?

(A) The proportion of all research in science and
engineering being carried out by corporations is
larger than it was five years ago.

(B) Most students choose fields of study that offer
some prospect of financial success.

© The number of students in university programs
in science and engineering has increased
significantly in the last five years.

(D) Certain specializations in science and engineering
have an oversupply of labor and others have
shortages.

(E) The knowledge and skills acquired during
university programs in science and engineering
need to be kept current through periodic
retraining and professional experience.

Rhonda: As long as the cost is not too great, you should
use your time, energy, or money to help others.
People who are active participants in charitable
causes have richer lives than miserly hermits,
however prosperous the hermits may be.

Brad: You should ignore the problems of complete
strangers and focus your generosity on your
immediate relatives and close friends, since these
are the people who will remember your sacrifices
and return the kindness when you yourself need
help.

Which one of the following principles, if valid,
would most help to justify both Rhonda’s and Brad’s
arguments?

(A) One should always do what will produce the most
benefit for the most people.

(B) One should treat others as one expects to be
treated by them.

©) One should act in ways that will benefit oneself.

(D) One should make sacrifices for others only if they
will eventually return the favor.

(E) One should always act in a manner that one can
reflect on with pride.

GO ON TO THE NEXT PAGE.
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14. Columnist: Wildlife activists have proposed that the

15.

practice of stringing cable TV lines from the
same poles that carry electric power lines

should be banned because cable TV lines, while
electrically neutral themselves, make it easier

for animals to climb near electric power lines,
risking electrocution. This particular argument for
banning the practice fails, however, since some
animals are electrocuted by power lines even
where cable TV lines are all underground.

Which one of the following most accurately describes a
flaw in the columnist’s reasoning?

(A) It takes a sufficient condition for an argument’s
being inadequate to be a necessary condition for
its being inadequate.

(B) It rejects an argument for a proposal merely
on the grounds that the proposal would not
completely eliminate the problem it is intended
to address.

© It fails to consider the additional advantageous
effects that a proposal to address a problem
might have.

(D) It rejects an argument by criticizing the
argument’s proponents rather than by criticizing
its substance.

(E) It rejects a proposal to address a problem merely
on the grounds that other proposals to address
the problem would also be effective.

The ancient reptile Thrinaxodon, an ancestor of
mammals, had skull features suggesting that it had
sensory whiskers. If Thrinaxodon had whiskers, it clearly
also had hair on other parts of its body, which would have
served as insulation that regulated body temperature.
Therefore, Thrinaxodon was probably warm-blooded, for
such insulation would be of little use to a cold-blooded
animal.

Which one of the following most accurately describes
the role played in the argument by the statement that
if Thrinaxodon had whiskers, it clearly also had hair
on other parts of its body, which would have served as
insulation that regulated body temperature?

(A) It is a premise offered in support of the
conclusion that insulation regulating body
temperature would be of little use to a cold-
blooded animal.

(B) It is a premise offered in support of the main
conclusion drawn in the argument.

© It is a conclusion for which the claim that
Thrinaxodon had skull features suggesting that it
had sensory whiskers is offered as support.

(D) It is a statement of a hypothesis that the argument
attempts to show is false.

(E) It is offered as an explanation of the phenomenon
described by the argument’s main conclusion,
but it is not itself used to provide support for
that conclusion.

16.

17.

Economist: Currently, many countries rely primarily on
taxing income to fund government expenditures.
But taxing income does nothing to promote
savings and investment. Taxing consumption, on
the other hand, would encourage savings. The
most important challenge facing these countries is
improving their economies, and the only way to
accomplish this is to increase their savings rates.
Hence,

Which one of the following most logically completes the
economist’s argument?

(A) most governments should stop taxing savings and
investment

B) the economies of countries will rapidly improve
if their governments adopt tax policies that
encourage savings and investment

©) in most countries taxes on consumption
alone could raise adequate revenues to fund
government expenditures

(D) the tax laws of many countries should be revised
to focus on taxing consumption rather than
income

(E) it is detrimental to the economic improvement of
any country to continue to tax income

Meade: People who are injured as a result of their risky
behaviors not only cause harm to themselves but,
because we all have important ties to other people,
inevitably impose emotional and financial costs on
others. To protect the interests of others, therefore,
governments are justified in outlawing behavior
that puts one’s own health at risk.

Which one of the following principles, if valid, most
undermines the reasoning in Meade’s argument?

(A) Endangering the social ties that one has to other
people is itself a harm to oneself.

B) People who have important ties to others have a
personal obligation not to put their own health at
risk.

© Governments are not justified in limiting an
individual’s behavior unless that behavior
imposes emotional or financial costs on others.

(D) Preventing harm to others is not by itself a
sufficient justification for laws that limit
personal freedom.

(E) People’s obligation to avoid harming others
outweighs their obligation to avoid harming
themselves.
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18. Sanderson intentionally did not tell his cousin about

overhearing someone say that the factory would close,
knowing that if he withheld this information, his cousin
would assume it would remain open. Clearly this was
morally wrong. After all, lying is morally wrong. And
making a statement with the intention of misleading
someone is lying. True, it was Sanderson’s failing to state
something that misled his cousin. Yet there is no moral
difference between stating and failing to state if they are
done with the same intention.

Which one of the following is an assumption required by
the argument?

(A) Sanderson believed that his cousin would not
want to be informed about the factory closing.

B) No one ever told Sanderson’s cousin about the
factory closing.

© Sanderson believed that the factory would in fact
be closing.

(D) Sanderson would have lied to his cousin if his
cousin had asked him whether the factory would
be closing.

(E) Sanderson had something to gain by his cousin’s
continuing to believe that the factory would
remain open.

19. After a judge has made the first ruling on a particular

point of law, judges must follow that precedent if the

original ruling is not contrary to the basic moral values
of society. In the absence of precedent, when judges’
own legal views do not contradict any widespread public
opinion—and only then—they may abide by their own
legal views in deciding a case.

Of the rulings described below, which one conforms most
closely to the principles stated above?

(A) Judge Swoboda is confronted with a legal issue
never before decided. Realizing that his own
view on the issue contradicts what most people
believe, he nonetheless issues a ruling that
accords with his own legal views.

(B) Judge Valenzuela decides, in the absence of
any precedent, whether children as young as
twelve can be legally tried as adults. There
is overwhelming public support for trying
children twelve and older as adults, a practice
that violates Judge Valenzuela’s personal moral
views. So Judge Valenzuela rules, in keeping
with his own legal beliefs, against trying twelve-
year-olds as adults.

© Judge Levinsky sets a legal precedent when she
rules that the “starfish exception” applies to
children. In deciding a later case concerning the
starfish exception, Judge Wilson adheres to his
own legal views rather than Judge Levinsky’s
ruling, even though he does not believe that
Judge Levinsky’s ruling opposes the basic moral
values of society.

(D) Judge Watanabe must decide a case that depends
on an issue for which no legal precedent exists.
There is no widespread public opinion on the
issue, so Judge Watanabe rules against the
defendant because that conforms to her own
legal view about the issue.

(E) Judge Balila rules against the defendant because
doing so conforms to her own views about the
legal issues involved. However, this ruling is
contrary to relevant precedents, all of which
conform to the basic moral values of society.

GO ON TO THE NEXT PAGE.
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20. Neuroscientists subjected volunteers with amusia—
difficulty telling different melodies apart and
remembering simple tunes—to shifts in pitch comparable
to those that occur when someone plays one piano key
and then another. The volunteers were unable to discern
a difference between the tones. But the volunteers were
able to track timed sequences of musical tones and
perceive slight changes in timing.

The statements above, if true, most strongly support
which one of the following hypotheses?

(A) People who are unable to discern pitch
compensate by developing a heightened
perception of timing.

B) Amusia results more from an inability to discern
pitch than from an inability to discern timing.

© People who are unable to tell pitches apart in
isolation are able to do so in the context of a
melody by relying upon timing.

(D) The ability to tell melodies apart depends on the
discernment of pitch alone and not at all on the
perception of timing.

(E) Whereas perception of timing can apparently
be learned, discernment of pitch is most likely
innate.

21. Literary critic: There is little of social significance in
contemporary novels, for readers cannot enter the
internal world of the novelist’s mind unless they
experience that world from the moral perspective
of the novel’s characters. But in contemporary
novels, the transgressions committed by some
characters against others are sensationalistic
spectacles whose only purpose is to make readers
wonder what will happen next, rather than events
whose purpose is to be seen as the injustices they
are.

Which one of the following principles, if valid, would
most help to justify the literary critic’s argument?

(A) An artist who wants to engage the moral
sensibilities of his or her audience should not
assume that forms of artistic expression that

previously served this purpose continue to do so.
B A novelist who wants to make a reader empathize
p

with a victim of injustice should avoid
sensationalistic spectacles whose only purpose
is to make readers wonder what will happen
next.

© A work of art is socially important only if it
engages the moral sensibilities of its audience.

(D) If a novel allows a reader to understand injustice
from the point of view of its victims, it will be
socially significant.

(E) Novels have social significance only to the extent

that they allow readers to enter the internal
world of the novelist’s mind.

22. A recent study revealed that people who follow precisely
all the standard recommendations for avoidance of
infection by pathogenic microorganisms in meat-based
foods are more likely to contract diseases caused by
these pathogens than are those who deviate considerably
from the standard recommendations. Hence, the standard
recommendations for avoidance of infection by these
pathogens must be counterproductive.

The argument is most vulnerable to criticism on the
grounds that it fails to take into account which one of the
following possibilities?

(A) Pathogenic microorganisms can reproduce in
foods that are not meat-based.

B) Many people do follow precisely all the standard
recommendations for avoidance of infection
by pathogenic microorganisms in meat-based
foods.

©) Not all diseases caused by microorganisms have
readily recognizable symptoms.

(D) Preventing infection by pathogenic
microorganisms is simply a matter of following
the appropriate set of recommendations.

(E) Those most concerned with avoiding pathogenic
infections from meat-based foods are those most
susceptible to them.
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that occurred last night, Schaeffer and Forster. Schaeffer
has an ironclad alibi, so Forster must be the burglar.
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23. No nonfiction book published by Carriage Books has
ever earned a profit. Since Carriage Books earned a profit
on every book it published last year, it clearly did not

publish a nonfiction book last year. Which one of the following arguments exhibits a flawed

The pattern of reasoning in the argument above is most pattern of reasoning that is most similar to that exhibited

24,

similar to that in which one of the following arguments?

by the argument above?

(A) No actor represented by the talent agent Mira (A) It has been known for some time that the
Roberts has ever won an important role in a Wrightsburg Zoo might build a new primate
major movie. Since every actor represented by house and that it might refurbish its polar bear
Ms. Roberts had at least one important acting exhibit. There is now good reason to believe the
role last year, it is clear that none of those actors zoo will build a new primate house. Therefore,
worked in a movie last year. the zoo will not refurbish its polar bear exhibit.

B) No hotel owned by the Bidmore Group (B) If Watson, a robbery suspect, had been picked
specializes in serving business travelers. Since out of a police lineup by the victim, then
the Cray Springs Hotel is owned by the Bidmore charging Watson with robbery would have been
Group, it clearly does not specialize in serving reasonable. But the victim did not pick Watson
business travelers. out of the lineup. So Watson should not be

© Pranwich Corporation has never given a bonus charged.
to an employee in its marketing division. Since © If Tano Industries does not borrow money so that
Pranwich gave bonuses to every one of its it can upgrade its factories, it will be unable to
systems analysts last year, it is clear that the compete. While it is undesirable for Iano to take
company employed no systems analysts in its on more debt, being unable to compete would be
marketing division at that time. even worse. So Iano should borrow the money

(D) James Benson has never done business with needed to upgrade its factories.
the city of Waldville. Since Waldville only (D) Baxim Corporation announced last year that it
maintains business files on individuals that it was considering moving its headquarters to
does business with, it clearly does not have a Evansville and that it was also considering
business file on James Benson. moving to Rivertown. But Baxim has now

(E) Conway Flooring has never installed hardwood decided not to move to Evansville. Thus, we can
flooring for any customer in Woodridge. Since be sure that Baxim will move to Rivertown.
Conway Flooring has had a lot of customers in (E) The only viable candidates in the mayoral race

Woodridge, the company clearly does not install
hardwood flooring.

All unemployed artists are sympathetic to social justice.
And no employed artists are interested in the prospect of
great personal fame.

If the claims made above are true, then which one of the
following must be true?

(A) If there are artists interested in the prospect of
great personal fame, they are sympathetic to
social justice.

B) All artists uninterested in the prospect of great
personal fame are sympathetic to social justice.

©) Every unemployed artist is interested in the
prospect of great personal fame.

(D) If an artist is sympathetic to social justice, that
artist is unemployed.

(E) All artists are either sympathetic to social justice
or are interested in the prospect of great personal
fame.

STOP

are Slater and Gonzales. Political analysts
believe that Slater has little chance of winning.
Therefore, it is likely that Gonzales will win the
election.

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.

DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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SECTION IV

Time—35 minutes

23 Questions

Directions: Each group of questions in this section is based on a set of conditions. In answering some of the questions, it may be
useful to draw a rough diagram. Choose the response that most accurately and completely answers each question and blacken

the corresponding space on your answer sheet.
Questions 1—6

A radio station airs hourly news updates every morning.
Each update consists of exactly five reports—two of general
interest: international and national; and three of local interest:
sports, traffic, and weather. Each update must be structured as
follows:

There are exactly two segments, the first segment
containing three reports and the second segment
containing two.

Within each segment, reports are ordered by length, from
longest to shortest.

Each segment contains at least one report of local interest.

The national report is always the longest of the five reports.

The sports report is always the shortest of the five reports.
The international report is always longer than the weather
report.

L.

Which one of the following could be an accurate
matching of reports to their segments, with the reports
listed in order from earliest to latest?

(A) first segment: international, national, sports
second segment: traffic, weather

B) first segment: national, international, sports
second segment: weather, traffic

©) first segment: national, international, weather
second segment: sports, traffic

(D) first segment: national, weather, international
second segment: traffic, sports

(E) first segment: traffic, weather, sports
second segment: national, international

GO ON TO THE NEXT PAGE.
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If the traffic report is the last report in the first segment,
then which one of the following must be true?

(A) The national report is the first report in the first
segment.

(B) The international report is the second report in
the first segment.

©) The weather report is the second report in the first
segment.

D) The national report is the first report in the
second segment.

(E) The sports report is the last report in the second
segment.

If the national report is the first report in the second
segment, then exactly how many of the reports are there
any one of which could be the first report in the first
segment?

(A) one
(B) two
©) three
(D) four
(E) five

Which one of the following CANNOT be true?

(A) The international report is the first report in the
first segment.

(B) The national report is the first report in the first
segment.

© The national report is the first report in the
second segment.

(D) The weather report is the first report in the first
segment.

(E) The weather report is the last report in the second
segment.

5.

The order of the reports is fully determined if which one
of the following is true?

(A) The international report is the last report in the
first segment.

(B) The national report is the first report in the first
segment.

© The national report is the first report in the
second segment.

(D) The sports report is the last report in the second
segment.

(E) The weather report is the last report in the first
segment.

If the traffic report is the first report in the first segment,
then which one of the following could be true?

(A) The international report is the first report in the
second segment.

(B) The national report is the second report in the
first segment.

©) The weather report is the second report in the first

segment.

(D) The weather report is the first report in the second
segment.

(E) The weather report is the last report in the second
segment.

GO ON TO THE NEXT PAGE.
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Questions 7—12 7. If the house in Quarry is shown fourth, which one of the
following must be true?

On a single day, a realtor will show a client five houses, I .

exactly one house in each of five neighborhoods—Quarry, Egg %ﬁ: Ezﬁz: 12 igzggﬁ 1; zﬁgzﬁ ?ersgn d

Riverton, Shelburne, Townsend, and Valencia. Each house will ©) The house in Shelburne is shown secon;i

be shown to the client exactly once. The order in which the (D) The house in Townsend is shown first ’

houses are shown is subject to the following constraints: (E) The house in Valencia is shown third.

The house in Riverton must be shown either first or second.
The house in Townsend must be shown either first or fifth.
The third house shown must be the house in Quarry or the
house in Valencia.
The house in Quarry cannot be shown either immediately
before or immediately after the house in Shelburne. GO ON TO THE NEXT PAGE.
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8. The order in which the houses are shown is fully 11. If the house in Valencia is shown third, which one of the
determined if which one of the following is true? following must be true?
(A) The house in Quarry is shown third. (A) The house in Quarry is shown fourth.
(B) The house in Riverton is shown first. B) The house in Riverton is shown second.
© The house in Shelburne is shown second. ©) The house in Shelburne is shown first.
(D) The house in Townsend is shown fifth. (D) The house in Shelburne is shown fourth.
(E) The house in Valencia is shown fourth. (E) The house in Townsend is shown fifth.
9. If the house in Shelburne is shown earlier than the house 12. Which one of the following, if substituted for the
in Quarry, which one of the following must be true? constraint that the house in Riverton must be shown

either first or second, would have the same effect on the

(A) The house in Quarry is shown fourth, order in which the houses are shown?

(B) The house in Riverton is shown second.

©) The house in Shelburne is shown first. (A) The house in Riverton cannot be shown fourth.
(D) The house in Townsend is shown fifth. B) The house in Riverton must be shown earlier than
(E) The house in Valencia is shown third. the house in Valencia.
© The house in Valencia must be shown either third
10.  Which one of the following could be true? or fourth.

(D) The house in Quarry must be shown either
immediately before or immediately after the
house in Riverton.

(E) If the house in Townsend is not shown fifth, then
it must be shown immediately before the house
in Riverton.

(A) The house in Quarry is shown first.

B) The house in Quarry is shown fifth.

© The house in Valencia is shown first.
(D) The house in Valencia is shown second.
(E) The house in Valencia is shown fifth.

GO ON TO THE NEXT PAGE.
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Questions 13—18 13.  Which one of the following could be an accurate
matching of the artifacts to their origins?

(A) Iceland: V, W
Norway: X
Sweden: Y, Z

(B) Iceland: W, Y
Norway: none
Sweden: V, X, Z

© Iceland: W, Y
Norway: V, Z
Sweden: X

(D) Iceland: V, W, Y
Norway: Z
Sweden: X

(E) Iceland: W, X, Y
Norway: Z
Sweden: V

Five artifacts—V, W, X, Y, and Z—recovered from a sunken
ship are each known to have originated in Iceland, Norway, or
Sweden. These artifacts, together with the surviving fragments
of a cargo list, have enabled historians to determine the
following:

W and Y originated in the same country.

X originated in Norway or Sweden.

More of the artifacts originated in Iceland than in Norway.

If V originated in Iceland, then Z originated in Sweden.

GO ON TO THE NEXT PAGE.
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14. If Y and Z originated in Iceland, then what is the 17. Exactly how many of the artifacts are there any one of
minimum number of artifacts that originated in Sweden? which could have originated in Norway?
(A) Zero (A) one
(B) one B) two
© two ©) three
(D) three (D) four
(E) four (E) five
15. Which one of the following CANNOT be true? 18.  Which one of the following CANNOT be true?
(A) V and X both originated in Norway. (A) Only V originated in Sweden.
(B) V and Y both originated in Iceland. (B) Only V and Z originated in Sweden.
©) W and Z both originated in Iceland. ©) Only W and Y originated in Sweden.
(D) W and Z both originated in Sweden. (D) Only X and Z originated in Sweden.
(E) W and Y both originated in Norway. (E) Only V, W, X, and Y originated in Sweden.

16. If W and X originated in Sweden, then which one of the
following must be true?

(A) None of the artifacts originated in Norway.
B) None of the artifacts originated in Iceland.
© V originated in Sweden.
(D) Z originated in Iceland.
(E) Z originated in Sweden.

GO ON TO THE NEXT PAGE.
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Questions 1923

The employees of the Summit Company—J, K, L, and
M—work a four-day workweek from Monday through
Thursday. Every Monday, work begins on four raw
workpieces, each of which is worked on for four consecutive
days. On any given day, an employee works on exactly one
workpiece. At the beginning of each workday after Monday,
each workpiece is transferred from the employee who worked
on it the previous day to another one of the employees, who
will work on it that day. Workpieces cannot be transferred in
any of the following ways:

From J to M

FromKtoJ

FromLtoJ

19.

Which one of the following describes four transfers of
workpieces that could all occur together at the beginning
of a particular workday?

(A)
(B)
©
(D)
(E)

From J to K; from K to L; from L to M; from M

Ftr(z)rjn Jto K; from K to M; from L to K; from M

Ftr(z)rJn Jto L; from K to M; from L to J; from M to

Flli)m Jto L; from K to J; from L to M; from M to

Flr<om Jto M; from K to L; from L to K; from M
to]

GO ON TO THE NEXT PAGE.
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20. Which one of the following transfers must occur at the 22. If L works on the same workpiece both on Tuesday and
beginning of any workday that is not a Monday? on Thursday, which one of the following must be true
(A) From J to K about that workpiece?
B) FromJto L (A) J works on it on Monday.
© From K to L (B) K works on it on Monday.
(D) FromLto M ©) M works on it on Monday.
(E) FromMtoJ (D) J works on it on Wednesday.

(E) K works on it on Wednesday.
21. If one workpiece is worked on by only two of the four
employees in the course of an entire workweek, those two 23. Which one of the following could be true about Tuesday?

employees must be (A) Transfers from J to K and from K to M occur.

(A) Jand K (B) Transfers from J to L and from L to M occur.

B) Jand L ©) Transfers from J to M and from M to J occur.

© Kand L (D) Transfers from K to L and from L to K occur.
D) Kand M (E) Transfers from K to L and from L to M occur.
(E) Land M

STOP

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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COMPUTING YOUR SCORE

Directions:

1. Use the Answer Key on the next page to check your
answers.

2. Use the Scoring Worksheet below to compute your
raw score.

3. Use the Score Conversion Chart to convert your raw
score into the 120-180 scale.

Scoring Worksheet

1. Enter the number of questions you answered
correctly in each section.

Number
Correct
SECTION | ...cocon,
SECTION ..o
SECTION ...
SECTION IV...............

2. Enter the sum here:
This is your Raw Score.

Conversion Chart
For Converting Raw Score to the 120-180 LSAT
Scaled Score
LSAT Form 5LSN113

Reported Raw Score
Score Lowest Highest
180 99 101
179 98 98
178 97 97
177 96 96
176 95 95
175 94 94
174 93 93
173 92 92
172 90 91
171 89 89
170 88 88
169 87 87
168 85 86
167 84 84
166 82 83
165 81 81
164 79 80
163 77 78
162 76 76
161 74 75
160 72 73
159 71 71
158 69 70
157 67 68
156 65 66
155 64 64
154 62 63
153 60 61
152 58 59
151 56 57
150 55 55
149 53 54
148 51 52
147 49 50
146 48 48
145 46 47
144 44 45
143 43 43
142 41 42
141 39 40
140 38 38
139 36 37
138 35 35
137 33 34
136 32 32
135 30 31
134 29 29
133 28 28
132 26 27
131 25 25
130 24 24
129 23 23
128 22 22
127 21 21
126 20 20
125 19 19
124 18 18
123 17 17
122 16 16
121 15 15
120 0 14
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Directions: The scenario presented below describes two choices, either one of which can be supported on the basis of the information given.
Your essay should consider both choices and argue for one over the other, based on the two specified criteria and the facts provided. There
is no “right” or “wrong” choice: a reasonable argument can be made for either.

A successful and politically active lawyer is deciding between two career moves: either to accept an appointment as a judge in the
regional courts, or to run, with support from a major party, for a seat in the national legislature. Using the facts below, write an essay in which
you argue for one choice over the other based on the following two criteria:

e The lawyer wants to have a significant impact on public policy and the future of the country.
e The lawyer wants to maintain a close-knit and prosperous family.

The judicial appointment is a permanent position. Regional judges are rarely removed from office. The regional courts decide at most
one or two cases of wide significance in a year. A few regional judges advance to positions in the national courts where most significant cases
are decided. Regional judges train law clerks, many of whom go on to important positions in public life. Judges work regular hours and are not
required to travel. Judges have personal contact with important figures in government and business. Judges rarely have success in seeking
other political office.

The legislative seat is in a highly competitive district and the holder faces frequent elections. New legislators seldom have much effect
on legislation or government policy. Successful long-time legislators can greatly affect government policies and programs. The legislature is in
session 36 weeks of the year. Legislators spend many hours campaigning and fundraising. They travel frequently between the national capital
and their district. The national capital is a short flight from the lawyer’s legislative district. Legislators are widely known in their districts and
some eventually gain national recognition. A close and supportive family is a strong asset in politics. WP-V122A

Scratch Paper

Do not write your essay in this space.
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